[}
I
2
Q.
y-

I5-

b-
Y )

)

‘v

|
'
ES
4
5
b
1
%
q.

WRESEFRIRNEY S

ule AB Und 1 Boview Fede
é%)ﬂ 1t 3 met e
' iy R
‘Qn\ebi‘l\*c’ 3z X
' 23 3.1%3 |
3y § )'(25)= 3
36 Linx- 5x>+C

PRI,

@, -|. [29)

(-
2 a-29 B+ (o) Fr5 0600 = s = (S

t—% -2 -3,5' or &
inl- in\—tl\

y 13
%‘- 4{9)(&"“

ju(q),__'# 3'(3)=nol'em19|r»m‘(° 9'(h)= 5

LETH
M X

(w%q)( %;L%;, Y+ (gx +9) n(3x3r2x+1)
Y= n(%-2)

-.992 or --9493

- (e”)* [

L -
z SO— - PSR ITSERCS SER- -

L in(xr2) 4+ o

SV +0

\ ) A X o
Qig‘mc ® Q)—Toe =

-—

" anb (1-x2)

Y-0=3(¥-1) - S
%(

zg—}{‘@‘

0

(14 onx)?

A20 | A= 19y
\ Z
,{;AC'AX *bb(’

—
‘aHn ‘ qr&x" rC
2

P




